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AYS &1 URATT = 32 cm
a=8cm,b=11 cm%l

AT YT C=32-(8 + 11)
=32-19=13cm

3F2s=328~s=16cm
s-a=(16-8)=8cm
s-b=(16-11)cm=5cm
s-C=(16-13)cm=3cm

- BYS &1 &=t
=/s(s —a)(s —b)(s —c)




=416 x 8 x5 x 3
= 84/30 cm?
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~s-a=125-120=5m
s-b=125-80=45m
S-c=125-50=75m

3{d: O I & o &
=/s(s —a)(s — b)(s — ¢c)
=4/125 x 5 x 45 x 75

= 3754/15 m?2
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=415 = &,

(iii) AT a = 20 YA I b = 15 JHT.
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= 1% =54,

By &1 &

= Js(s—a)s—h)(s—c)

= J54(54-20)(54 -51)(54 -37)

= J54x34x3x17

= \1836x51
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T Tforg Yo (el #) 3%, 5x iR 7x §

dd, 1 OFd © foh 3x + 5x + 7x = 300 (Y &1 ufkHm)

MY, 15x = 300 &, R x = 20 U giell

i, AYST &I YO 3 x 20 m, 5 x 20 m 3R 7 x 20 m B

YT T YSME 60 m, 100 m 3R 140 m % |

3T s = 60+1020+140 m=150m
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= J150(150 - 60)(150 ~100)(150 —140) m*
= J150x90x 50x10 m’
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